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QUESTION 1

Which of the following is not an advantage of a thin client in the cloud x se rvice?
A. low cost

B. mobile

C. efficient storage

D. easy deployment and management

Correct Answer: C

QUESTION 2

Which following service scenario of the smart grid does a separate 5G E@E need to be used? -SC
A. Power distribution network protection and control

B. Mobile operations

C. Intelligent meter reading

D. Voice-base dispatch service (trunking group)

Correct Answer: A

QUESTION 3

Using 5G to implement AR and assist industrial operation guidance is typical eMBB scenario.
A. True.

B. False

Correct Answer: A

QUESTION 4

Compared with traditional plat preservation which of the following advantages does drone-based plant preservation
have?_MC

A. higher efficiency than manual operations
B. 30% less medicine is used, saving water and protecting the environment.

C. precise operation
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D. high security due to man-machine separation

Correct Answer: ABCD

QUESTION 5

Which ogf the following is the ideal rate of reliability for cooperative automated driving?
A. 0.999%

B. 0.999999%

C. 0.9999%

D. 0.99999%

Correct Answer: D
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